EE 201 — HW 7.7 Name
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a. In the circuit at right, Vs = (8V)coswt. Find the frequency (f not w) 10 kQ +
for which the magnitude of v is 2 V. Calculate the phase of v, at that Vs (‘*‘) L R0
frequency. - 15 mH
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b. In the circuit at right Vs = (8V)coswt. Find the frequency (f not w) v R< o
for which the phase of vr is +45°. Calculate the magnitude of vg at 5 4 kO R
that frequency. -
f= Ve[ =

Write your answers — and whatever work will fit — on this sheet. Staple any sheets with additional work behind.



